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General Instructions :

Please read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are

compulsory.

(it)  Question paper is divided into FIVE Sections — Section A, B, C, D &

E.

(iti) In section A - Question number 1 to 12 are Multiple Choice (MCQ) type

Questions.

(tv)  In section B - Question number 13 to 18 are Short Answer (SA) type

questions carrying 2 marks each. Answer to these questions should not

exceed 50 words.

(v)  In section C - Question number 19 to 23 are Long Answer (LA) type

questions carrying 4 marks each. Answer to these questions should not

exceed 100 words each.

(vi)  In section D - Question number 24 to 26 are passage, cartoon and map-

based questions.

(vit) In section E - Question number 27 to 30 are also Long Answer type

questions carrying 6 marks each. Answer to these questions should not

exceed 170 words.

(viit) There is no overall choice in the question paper. However, an internal choice

has been provided in few questions. Only one of the choices in such

questions has to be attempted.

(ix) In addition to this, separate instructions are given with each section and

question, wherever necessary.
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SECTION - A

1.  Which one of the following statements about relations between India and
Nepal 1s NOT correct ? 1
(a) India and Nepal have a special treaty related to travel and work in
the other country without Visa.
(b) India shares the river water from Nepal.
(¢) Both countries have democratic form of government.
(d) Nepal always follows the policies of India.

2.  Identify the main reason behind the investments of MNCs in developing
countries. 1

(a) For the welfare of the underprivileged people.

(b) To increase their own assets and earn profits.

(¢) For the benefit of other countries.

(d) To provide financial support to the developing countries.

3. Fill in the following blank with an appropriate term from among the
following : 1

means the progress that meets the needs of the present
generation without compromising the need of future generation.
(a) Global commons (b) Development without destruction
(¢) Sustainable development (d) Politics of developed nations

4. On which basis does India claim permanent membership of the UN
Security Council ? 1

(a) Nuclear capability

(b) Located in Asia

(¢) Being a secular country

(d) Large population and big economic power
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5. SWEUH (A) : 1990 % @k o Gk TS o SIIH U7 shi ToHferes arfeat 31

3TTH ST 31reh Geft 37 STt seH yoTeft 9med o |

&l (R) : TSI AT 6T TERIAT | TR 9T 0T 07 ST §U T TR 36 Auret §

Arehadl o foredr s wfcsferg femam |

fererea :

()
(b)
©
(d)

(A) 3 (R) 31 = 8 3R (R), (A) Y vt =Amen 2 |

(A) 3R (R) ST w1t & 0 (R), (A) =h1 Bl =1 T 2 |
(A) T 2, AAfhT (R) Tord 2 |

(A) TTeTd 8, Wi (R) eI 2 |

6. INERUE (A) : TIH TP T 3 hH A1l 2 Fop o8 e g forwar o Sger oo oht wm |

=t (R) : HiferRrd Te % ferere % a1e s T3 <91 9 TP o TS s |

farepea

()
(b)
©
(d)
59/5/1

(A) 3R (R) 31 & B 3R (R), (A) Y vt =amen B |

(A) R (R) g1 w8 0 (R), (A) 1 &l =T T 2 |
(A) T 2, AAfehT (R) Tt 2 |

(A) TeTd B, AR (R) TET R |
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In the questions (5 & 6) given below, there are two statements marked as

Assertion (A) and Reason (R). Read these statements and choose one

correct answer from the given options :

5. Assertion (A) : During constitutional monarchy in 1990s, the political

parties and the common people of Nepal wanted to have a

more open and responsive system of government.

Reason (R): The King with the help of the army retained full control

over the government and restricted the expansion of

democracy in Nepal. 1

Options :

(a)
(b)
()
(d)

Both (A) and (R) are true and (R), is the correct explanation of (A).
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A) is true, but (R) is false.

(A) 1s false, but (R) is true.

6. Assertion (A) : The United Nations is expected to cope better with the

Unipolar World.

Reason (R): After the disintegration of Soviet Union many new

countries joined the United Nations. 1
Options :
(a) Both (A) and (R) are true and (R), is the correct explanation of (A).
(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(¢) (A)is true, but (R) is false.

(d)

59/5/1

(A) 1s false, but (R) is true.

Page 7 of 24 P.T.O.



(=] [=]
k]
E

7. Trafafgd @ @ ow o e, foda et Tem @ smfea o ¢

(a)
(©

SRt (b) 3Tk THEAT
Trevor faenra (d) T T 3N

8.  TrAferfigd 5 & 1 |1 ush, Hife ST 61 389 T & 7

(a)
(b)
©)
(d)

T <61 fererre ufshan o fore wrifees Hifa wem @ |
el Tien T o foru e 3 & &9 § i &6t |
forerra wrlshHl & foTu o <Y seree & |

ifer o &9 st ) gHE ST |

9. Tr=ferfaa gemati i HeshuaR Safer Hif :

@

AT FETGL It 31 W= < w9 1 e

(ii) TeTehe TSl

(iii) =T I AT

(iv) . frdt o agafe Saifad g
gt fereheu gfvu

(a)
(b)
(0
(d)

), (1), (1), (@v)
(i1), (111), @v), 1)
(ii1), @v), (@), (i)
(1), @v), @), (i1)

10. YR H ‘YUH cAlehdiieh oTgt sh! GHIE o= o ?

(a)
(b)
©)
(d)
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1950 % g1 & 1970 % &I dh
1960 % g1 & 1970 % T3 dh
1960 % 231 & 1980 % &I dh
1970 % g & 1980 o G b
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7. Which one among the following was expected from the Second Five Year

Plan ? 1
(a) Industrialisation (b) Economic equality
(¢) Rural development (d) Eradication of poverty

8.  Which one of the following is not the objective of NITI Aayog ? 1

(a) To provide strategic input to the development process of India.
(b) To serve as a Think Tank of the Union government.
(¢) To arrange funds for the developmental programmes.

(d) To put an end to the tardy implementation of the policies.

9. Arrange the following in the chronological order : 1
(1) Appointment of Lal Bahadur Shastri as Prime Minister.
(i) Tashkent Agreement
(i11) The fourth General Elections.
(1v) Election of V.V. Giri as the President of India.
Choose the correct option :
(@ @, @), (), Gv)
(b) @), (i), @v), @)
(¢) (@), @v), @), ()
(d) @G, av), @), (i)

10. What was the time period of ‘First Democratic Upsurge’ in India ? 1
(a) From 1950s to 1970s
(b) From 1960s to 1970s
(¢) From 1960s to 1980s
(d) From 1970s to 1980s
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11. ‘ST Hqe™ &1 day fha s 8 8 ? 1
(a) 3BV Tedl (b) IEH
(c) WU @) fsim
12. S0 3R IR ¥ Treg 7= 370 i el THTH fohan 1 7 1
(a) 26 Had, 2019 (b) 15 3T, 2019
(c) 93, 2019 (d) 19 3rr, 2019
TWE-@
13. WA 3R qTferEam™ o i TEaeIi sl GETA o foTT 15 g1 3UT ST | 2x1=2
14. 3IT=AUET 59 S o foheal €l BT ! SHTEAT HIWT | 2x1=2
15. W <t e fdreran sht ife w1 fergeryor Hifse | 2

16. “gferor UfSr & cliehds o NSl ¥ A <hl AfYesh o1 i T 9T & |7 A 6
gfs HifrT | 2
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11.

12.

13.

14.

15.

16.

‘Bodo’ community belongs to which state ? 1
(a) Arunachal Pradesh (b) Assam
(c) Manipur (d) Mizoram
When was Article 370 related to Jammu and Kashmir abolished ? 1
(a) 26 January, 2019 (b) 15 August, 2019
(¢) 9 August, 2019 (d) 19 August, 2019
SECTION - B
Suggest any two measures to improve the relations between India and

Pakistan. 2x1=2

Explain any two functions of International Labour Organisation ILO). 2x1=2

Analyse the India’s policy of Non-alignment. 2

“The South Asian experience of democracy has expanded the global

imagination of democracy.” Justify the statement. 2
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17. g HHR g ISHT AR o T W Afd 37— 1 T84 6 & his 2 I TE
FHifTT | 2x1=2

18. wRa 3 @A H.A. (s vheror yfgerar afr) qem TR, (s wER afer) m
FEATRT 1 21 fepu ? B8 &1 hur TE I | 2x1=2

LCERR |
19. “37%& & 31T o fo%g Toh SH-3TcIeH o1 |” %2 o 981 § 15 ol 3G 4T 12 x 2 = 4
20. 1969 H HidF 41 H U fIHTSH o HIE G HRUT IATR HIFAT | 2x2=4
21, S[7 1992 # e & Srifa et aie’ o fohgl IR afommi Sl SITRHINT | 4x 1=4
22. Toire % T # &t it srereft gt gra forumé € yfireht 1 Srher AR | 4

23. YRA % |1 <t Frmadi o foem 4 egr weet Sl yfient o1 gouieh it | 4
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17.

18.

19.

20.

21.

22.

23.

(=] =
TR HE
2o
Explain any two reasons for the formation of the NITI Aayog in place of

the Planning Commission by the Union Government. 2x1=2

Why did India not sign the nuclear treaties like NPT and CTBT ? Explain

any two reasons. 2x1=2

SECTION - C

“The ‘Arab Spring’ was the people’s revolution against injustice.” Support

the statement with any two examples. 2x2=4
Highlight any two reasons for the split in the Congress Party in 1969. 2 x 2 =4

Highlight any four outcomes of the ‘Earth Summit’ held in June 1992 at

Rio. 4x1=4

Assess the role played by Akali Dal, a regional party, in the politics of

Punjab. 4

Evaluate Sardar Patel’s role in the integration of princely states with

Indian Union. 4
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24. T e Y eagdes dfeu 3R feu e e & 3 ferfia 4x1=4
Teh TN o €1 H Ivlhi] IT €9 & JaTg & Hated 7 | A varg fafie wer & &
T @ | fova & T o 9 g fe 1 9 9t fomm, @ o1 @1 9 stiee s % S
dsft o1 waTg, ¢ oul o o eI 1 AR 9T SEat Srefifeet 61 derer ¥ gfen &
fafir fewai & ARTH Y STTaTeTE | I5T Ty HEaqul oTd & ‘fovasard) e Jee, St
UH yaTal i faar | 91 g g St HEm ot B |
Q) fovgedt urwafen Jera @ frafaiad § @ ®TwgT AR ?

(a) vt
(b) eI
(c) HHTSIHIT
(d) Tl

(i) vl S M E -
(a) TR, |G 3T 3Mefcies
(b) @ISR, JTRfe 3T Himfers
(c) TSHifaeh, 3T 3T yaTaRui
(d) TSR, AR 3T 3Tfiw

(i) freferReaa & & i smffe nfafafrt & gfg wwar g 2
(a) VST T A M
(b)  TErsh ¥erepTeh H i
(c) weq dfvash il fosm
(d) =R T A frree

(v) Trfafed @ @ %9 Syt o I 2 ?
(a) TR AEAIEER
(b) 3 AR 3rerie @] fpy MU R |

(©) IUWIRHT 1 T forga g3 2 |
(d) = TR ol SemE e § |
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SECTION -D

24. Read the passage given below carefully and answer the questions that
follow : 4x1=4

Globalisation as a concept fundamentally deals with flows. These flows
could be of various kinds — ideas moving from one part of the world to
another, capital shunted between two or more places, commodities being
traded across borders and people moving in search of better livelihoods to
different parts of the world. The crucial element is the ‘worldwide
interconnectedness’ that is created and sustained as a consequence of
these constant flows.

(1) ‘Worldwide interconnectedness’ is also knownas
(a) Globalisation
(b) Liberalisation
(¢) Socialisation

(d) Privatisation

(i1) Dimensions of globalisation are __
(a) political, social and spiritual
(b) social, economic and geographical
(¢) political, economic and environmental

(d) political, social and economic

(111) Which among the following increases economic activities ?
(a) Decline in employment
(b) Increase in the index of poverty
(¢) Strong global economic growth
(d) Great decline in the trade

(iv) Which one of the following is an impact of globalisation ?
(a) The power of the states has increased.
(b) New trade barriers have been imposed.
(¢) Choice of the customer has increased.

(d) It has given a boost to local industries.
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25. 9Rd & feu mu gerifas War-amfas O =R e /s ol A, B, C q9m D gRI i T
2 | = € TTE ST % TR W g6k UgeH hifTT 3T 379 IT-qfaeht o 39 Tl
T, AR 61 ITE DRI sl sHH TEAT G Hated 318, fou e gy & 31gar fafaw :
4x1=4
() =8 < FToeh w1 TRd 1 1962 | g 73T |
(i) o8 <1 ForEes 1o e o1 Sy % g8 W feame B |
(i) =€ SIS 1971 % g o wTe e § 3T |
(iv) 98 YR =" S <4 & 91 a7 9re 6 @ |
TE <Rl T8 AR <hl A TEAT et AR /T 1 A

(1)
(i)
(iii)
(iv)
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25. In the given political outline map of India, four countries / states have
been marked as A, B, C and D. Identify these on the basis of the
information given below and write their correct names in your answer
book along with their respective serial number of the information used
and the concerned alphabet as per format that follows : 4x1=4
(1) The country with which India fought a battle in 1962.
(11) The country with which India has a dispute on Kashmir.
(111) The country which came into existence after the 1971 war.
(1v) The Indian state which shares its border with China.

Sr. No. of the Concerned alphabet Name of the
information used in the map countries/states
@
(i1)
(i11)
@iv)
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e : fafaRad wer sae gyt wlenfeiat & o, wor v 25 F @MW 4x1=4
(25.1) 39 < o1 A feafgn foees @ a9 1962 H Ig e o |
(25.2)  TSITEI o wTC A 21 foh <91 % |1Y WA <1 R g2 W Hes @2 7
(25.3) 3@ et ¥ Hefrd <9 w1 W ferfau |
(25.4)  TATOR 1 ShiF &1 TRATT T <1 o F1 STI HHT T73 BT 8 2

26. Tr=ferfiad w1 &1 = A 31eaa L 3R = fou weai & 3o ford 4x1=4

() e o fegmn mn afe frafafea o @ fra qw o gafea g 7
(a) HiforRa 5a (b)  EIH T FHLHT
(c) Uk d

59/5/1 Page 18 of 24



]
Lo
2
Note: The following questions are for Visually Impaired Candidates
only in lieu of Q. No. 25 : 4x1=4
(25.1) Name the country with which India fought a battle in 1962.

(25.2) With which country did India have conflict over Kashmir issue
since independence ?

(25.3) Name the country related to Sheikh Mujibur Rahman.

(25.4) Which Indian state in the North East shares its border with
China ?

26. Study the given cartoon carefully and answer the questions that follow : 4 x 1 =4

(1) The soldier shown in the cartoon belongs to which one of the
following countries ?

(a) USSR () USA
(© Iraq (d) Iran
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(i) TorE o 3R TR “STTREH SUehT ThISH” o ShedTH & STTshuT fekam T o 7

(a) 1993 (®) 2000
(c) 2003 (d 2008

(i) 1T H femae w3 § & FomfRed § #1991 0 W@ HT R ?
(@) (b)  HTTHEH
(c) ITRETH @  FEH

(iv) uH @El Ig ! frferfaa # & forg weh s Tm & St STHT ST R 2
(a) R AR (b)  HATReE fesism
(c) HEII IR (d)  ITTRIH T hen

e : Frefafad o Fae givanferm whenfelt 3 o, v Ten 26 F M WR : 4x 1= 4
(26.1) fEAfaRgada s ATy @I HT B ?

(@) M (b) IfeREdT
(c) 3ImH (d) iR
(26.2) e o A “3TTIH SUHT ThISH” o HeATd & FUh T STTHAT G AT ?
(a) 1995 (b) 1999
(c) 2003 d) 2007

(26.3)  WMD 1 feoreqa &9 fafig |
(a) =uE AT s fewgsm
(b) =uE AT A feEeR
(c) S 3T Aferemm feegarm
(d) =T T A forgrm
(26.4) A @I g wI frfafaa 7 @ fpa s A @ ST SR 7
(a) WA (b) 3TToREE ferstem
(©) HARAR () SiTReR T Hien
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(11) In which year was Iraq attacked under the code name ‘Operation

Iraqi freedom’ ?

(a) 1993 () 2000
(c) 2003 (d) 2008
(111) Which one of the following countries shown on the cartoon is a ‘Gulf
country’ ?
(a) Iran (b) Kazakhstan
(¢) Pakistan (d) Oman
(iv) The First Gulf War is also known as .
(a) Smart War (b) Operation Liberation
(¢) Computer War (d)  Operation Enduring Freedom
Note: The following questions are for Visually Impaired
Candidates only in lieu of Q. No. 26 : 4x1=4
(26.1) Which one of the following is a Gulf country ?
(a) Iran (b) Pakistan
(¢) Oman (d) Kazakhstan
(26.2) In which year was Iraq attacked under the code name
‘Operation Iraqi Freedom’ ?
(@) 1995 (b) 1999
(c) 2003 (d) 2007
(26.3) What is the full form of WMD ?
(a) Weapons of minimum destruction
(b) Weapons of mass destruction
(¢) Weapons of maximum destruction
(d) Weapons of most destruction
(26.4) The First Gulf War is known as -

59/5/1

(a) Smart War (b) Operation Liberation
(¢) Computer War (d) Operation Enduring Freedom
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27.

28.

29.

30.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)
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T wg & Th 3Rl wreT ¥ Al Terifae deed # fyswfaa 8

yfsean ol wrE T |

YA

YT T Teh AT IUAT §AT Ik brgy S U TETIHh Fohegl o HHehl hl e

T |

3x2=6

L&A o ToTT uh T @t o &9 1 3ATdehde o e foheel a1 Serawi 1 agrera |

FHINT |

YA

2x3=6

TIH TP G Iig 5 T Rt ud sryrl geen % fau yearfaa R = w

HTIEUST ! T SHIRTT |

4x1%=6

1975 H GIfYd STITdehTA bl WRATT UsiHIfd shl gaiferes foanfed erer s qmm Srar

2 7 SIS A HRU IATR I |

YA

3x2=6

1977 % IATE § HE U o Iaq &b oI IoagrRlt fhdl i SRl i IR

T |

3x2=6

HUSH TN 1 i FHRIRET ford TR ‘37 fumer et <l gaenati sl 81 i i

Teh T 2 7 Targeor Hifs |

YA

3x2=6

T ToHifa 0 3= fuser ot & 3 & fau ot ol 9 wrenl &1

fergetwor Hifsiw |
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SECTION - E

27. (a) Explain the process of evolution of the European Union from an

economic union to an increasingly political one. 6
OR
(b) Explain any three factors that led India to emerge as a new Centre of
Power. 3x2=6

28. (a) Explain terrorism as a new source of threat to the security with the
help of any two examples. 2x3=6
OR
(b) Explain any four criteria proposed for new permanent and non-

permanent members of the UN Security Council. 4x1%=6

29. (@) Why i1s the emergency imposed in 1975 considered the most
controversial episode in Indian politics ? Highlight any three
reasons. 3x2=6

OR
(b) Highlight any three factors which were responsible for the downfall
of the Congress Party in the 1977 elections. 3x2=6

30. (a) How are the three recommendations of the Mandal Commission an

effort to solve the problems of the ‘Other Backward Classes’ (OBCs) ?

Analyse. 3x2=6
OR
(b) Analyse any three factors that led to the rise of ‘Other Backward
Classes’ (OBCs) in Indian Politics ? 3x2=6
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